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Write the chemical equations for the reactions which take place during the tests on the previous page. 

Test for Carbon Dioxide: Ca(OH)2(aq) + CO2(g) à CaCO3(s) + H2O(l) 

Test for Hydrogen: H2(g) + O2(g) à H2O(l) 

Test for Oxygen: Not really an equation, the oxygen enables the wood to combust 

Test for presence of Water: CuSO4 (s) + 5H2O (l) ⇌	CuSO4.5H2O (s) 

Test for presence of ammonia: No equation, just an indicator paper being used 

Test for Chlorine: Cl2 + H2O ⇌ HOCl + HCl 
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Big mistakes 
The following diagrams are all WRONG. For each, say why it is wrong, and if it can be fixed, fix it. 

 

1) The diagram below is wrong because double bonds should be present. 

 x  

2) The diagram below is wrong because double bond should be present. 

 x  

3) The diagram below is wrong because Hydrogen missing 

 x  

4) The diagram below is very wrong indeed because IT’S IONIC – PLEASE! NEVER MAKE THIS MISTAKE! 

 x  
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More covalent dot and cross practice (try to do these without looking back at your notes) 

In each of the following, draw a diagram to show the bonding, showing the outer electrons only. 
 

1) Water, H2O 

 
 

2) Difluoromethane, CH2F2 

 

3) Oxygen, O2 

 

4) Carbon dioxide, CO2 

 

5) Sodium oxide, Na2O  (ALERT: trick question!! Always be on the lookout for this!) 
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Nitrogen has a simple covalent structure with weak intermolecular forces 
which require very little energy and low tempreratures to overcome - 

hence, Ntrogen has a low boiling point.
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As the relative formula mass increases, the boiling point increases.
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As the relative formula mass increases, the intermolecular forces are stronger and require 
more energy to overcome, achieved by higher temperatures.
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Michael
For each of the following, explain which has the higher boiling point:

1)Methane (CH4) or octane (C8H18)?

Octane as it has a higher Mr so has stronger intermolecular forces which require more energy and higher temperatures to overcome.



2)Hexane (C6H14) of pentane (C5H12)?

Hexane as it has a higher Mr so has stronger intermolecular forces which require more energy and higher temperatures to overcome.



3)Fluorine (F2) or bromine (Br2)?

Bromine as it has higher Mr so has stronger intermolecular forces which require more energy and higher temperatures to overcome.



4)Iodine (I2) or hydrogen (H2)?

Iodine as it has higher Mr so has stronger intermolecular forces which require more energy and higher temperatures to overcome.�
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